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1 |deiEE 1.5E+1 14.6 14.6
2 |[EHRE 1.1E+3 1,100.0 1,100.0
3 |AFE
4 |EHE 3.7E+2 370.0 370.0
5 (AR 6.0E+0 6.0 6.0
6 [ILZE 1.5E+0 1.5 1.7E+3 1,700.0 1,701.5
7 |fRBE 2.3E+1| 3.2E+1 54.9 1.1E+3 1,120.0 1,174.9
8 |ZWE 32E+1| 9.3E+ 124.7 1.9E+1 3.0E+3 3,048.2 3,172.9
9 |HAE 7.6E+1 76.0 76.0
10 [HER 6.0E+1| 1.2E+2 180.0 2.3E+3 2,300.0 2,480.0
REEET! 1.0E+0 1.0 7.1E+ 71.0 72.0
12 |TER 2.3E+1| 1.7E+ 39.7 25E+0| 5.6E+1 58.2 97.9
13 | 1.0E-1 0.1 1.0E+2 100.0 100.1
14 |[#E)E 3.3E+0| 2.3E+1 25.9 51E+1| 3.7E+3 3,770.2 3,796.1
15 |FriRE 5.1E+0| 3.7E+2 375.1 5.0E-1| 1.4E+1 14.5 389.6
16 |EWE 3.1E+0 3.1 6.0E+3 6,030.0 6,033.1
17 |RIIE
18 |f&@HE 2.6E+1 25.7 1.5E+4 15,301.4 15,327.1
19 [ILEE
20 |RHE
21 |IKEBR 9.6E+0| 2.0E+0 11.6 1.9E+3 1,870.0 1,881.6
22 |E&mER 6.1E+1 61.0 61.0
23 |BHIR 4 5E+0 45 2.6E+3 2,600.0 2,604.5
24 |ZER 3.1E+2| 85E+2 1,162.0 56E+0| 9.8E+2 983.6 2,145.6
25 |#HER 1.1E+3 1,100.0 1,100.0
26 |REAT 5.2E+0 52 1.0E-1| 7.8E+0 7.9 13.1
27 | KBRAF 9.1E+1 91.4 91.4
28 |EER 1.9E+2| 4.8E+2 678.6 8.5E+0| 3.8E+4 38,1525 38,831.1
29 |ZRER
30 |FOERILE 2.1E+1 20.6 6.1E+2| 3.5E+3 4,105.0 41256
31 |BHRE 4.0E+1 40.0 40.0
32 |BRE 1.0E-1 0.1 0.1
33 |MILE 4.0E+1 40.1 6.5E+1 65.0 105.1
34 |[LER 6.0E-1 0.6 35E+0| 2.3E+1 26.5 271
35 |ILOg 20E+1| 6.4E+1 84.2 2.4E+3 2,401.2 2,485.4
36 |fESR 2.5E+1 248 2.4E+4 24,000.0 24,0248
37 |BNE 11E+1|  7.6E+1 87.0 87.0
38 |BER 1.4E+1| 5.1E+1 64.9 64.9
39 |EER
40 |fERR 3.0E-1| 2.3E+ 233 23.3
41 |*EER 9.2E+0 9.2 9.2
2 |RIBER
43 |RERR
44 | KHR 9.6E+1 96.0 1.0E+0 1.0 97.0
45 |FIFER
46 |EEER 4.0E-1 0.4 0.4
47 |[HiER
£ H 79E+2| 2.9E+3 3,718.6 70E+2| 1.1E+5 110,011.4 113,730.0
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